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CONTRÔLE INDUSTRIEL ET RÉGULATION AUTOMATIQUE
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4e partie : 
Question 5
	Intensité (mA)
	Température (°C)
	Valeur API

	
	
	binaire
	hexadécimal
	décimal

	4
	20
	0000 0000 0000
	0 0 0
	0

	12
	120
	0011 1111 1111
	3 F F
	1023

	20
	220
	0111 1111 1111
	7 F F
	2047


Question 6


pleine échelle (°C)
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Question 7

U42 – Automatismes et Logique
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Séquence de purge
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purge terminée
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PR := 1 ; AR := 1





PR :=0 ; AR := 0





md := 1





md := 0





Régulation de


température





non





TI>165°C ?





oui





non





TI<155°C ?





oui





non





TI>175°C ?





oui





Fin










